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QUESTION 1

Which tier provides highest availability and highest performance?
A. tier4

B. tier 3

C. tier 2

D. tier1

Correct Answer: D

QUESTION 2

Which Fibre Channel protocol layer handles Flow Control and Classes of Service?
A.FC-0

B. FC-1

C.FC-2

D. FC-3

Correct Answer: C

QUESTION 3

Which statement describes the relationship between SAS and SATA devices regarding storage capacity?
A. SATA devices have less storage capacity than SAS devices

B. SAS devices have less storage capacity than SATA devices

C. STA and SAS devices have the same storage capacity

D. SAS devices have less performance than SATA drives

Correct Answer: B

QUESTION 4
What the steps to restore a complete backup that is using incremental method and has run three times already?
A. latest full must be restored

B. latest incremental and all subsequent must be restored
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C. latest full and subsequent incremental backups must be restored
D. latest full and latest incremental backup must be restored

Correct Answer: C

QUESTION 5

What is the maximum distance of a 50-micrometer fiber witch a 850nm shortware laser at 1 Gbps?
A. 500 meters

B. 300 meters

C. 150 meters

D. 70 meters

Correct Answer: A
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